XYZ,=95.04,100.0, 108.89 —74 Parameter:
A,=256,-8,)Y I L*c) &name
B,=250,-b,) Y

LCIr—L*c" -50 ™

az aza[(X-X )

3 5
6 Ostwaldcolours (0),C,g
colour space Cyg 5, L
L* ;

o)
=L e(Y) / Lice(18)

cir

2 Y S Ve
005 061 033859 4391280 00~ 0758 638 329 71827 21 179" 186 18]
676 0432 0529570 4630.61 -0.022 0325 -1.3 76.7 76.7 91 523 47.7 487 4;

XYZ,=96.42,100.0, 82.49 —74 Parameter: L Cll’—L* -50 74
A= 25 6,-3,) Y I L*gyr &name cir
B,=25b,-b,) Y g3c! Y=Y

=3[ (x=x.) /)

B2~ L2
6 Ostwaldcolours (0),C,,
colour space Cug 5, L¥c)
oL (Y) / Lee(18)

p=const

lllumin. D50, Y 100 0 Y O 1

iame Range X A a8

R, 570,775 6420 3099 005 nma 0381598 4611383 00
496_77583.1 94.03 4.27 0.458 0518573 4680.671 -0.018

Ly
0752 676 339 75225223 194 201 1
031233 733 733 87 522 47.6 486 4

L*c)r & name
Y

1, by,
>< —0110 B —1300
T
6 Ostwaldcolours (0),C,g
colour space €y 5, L*,,)
o=l ce(Y) / Lee(18)

\GN =100. O Y 0 1

A
005 0. sa 0369600 493 1408 00
4.06 0.476 0501576 4680.73 -0.022 0314
402 0.259 0.689540 5400.216 ~0.038 0.582
64.64 0,199 0.381493 6000234 ~0571 0.537
60.62 0,136 0.061468 5760.435 ~6.762 6.432
60.670.43 0.244540c5401.309 ~0.688 0.689

lllumin. P40,
nge

e Ly
0768 700 345 79025 228 202 205 2
32 748 749 87 529 481 491 4
-67.6 403 789 149 301 285 293 2
710 -34.5 79.0 205 327 312 32.0 2
-32 ~748 749 267 0.25 -2438523%

i, 573408 6053 25,79 675 403 789 39 254 294 241 2

W, 380_775 100.9800.0 64.68 0.379 0.376 100% 0717 -0.336 001 00 00 00 0 555500 5L0 42
N, 380775001 001 00 03780375 0% 0716 -0.33 001 0.0 00 00 180 0.0 -43ABGEA0E
U; 380775 18.16 180 1164 0.379 0376 18% 0717 -0.336 001 00 00 00 166 10 -04 0.0 O,

G? 493 567 17.49 56.35 6.71 0.217 0.699535 5350.153 -0.038 0557 -65.2 437 785 146 3.13 298 306 2 GD 496570 18.21 54.04 422 0238 0706538 5380181 -0.031 0562 -643 403 759 147 30 284 292 2
C. 380 567 35.41 62,00 108471 0.3 489 5060.204 -0.56 0463 -63.8 -32.9 71.8 207 344 329 338 30.7[C7 380 570 31.53 60.01 82.44 0.181 0.344491 5980.206 0.549 0,501 ~67.6 ~32.9 75.2 205 333 318 326 2
7 380 493 17.03 5.75 1020842 0.045463 5700711 -5.681 5.334 13 767 767 271 031 -21.2280.922.d[8; 380 496 1332 5.07 78.230.136 0.061468 5730.434 -5.235 491 -33 -73.3 73.3 267 0.33 ~207.32072
M 567493 77.55 43.65 10201847 0195535535 1213 -0.749 0719 652 -43.7 785 326 242 220 22.7 22.0|[M, 570 496 78.21 45.96 78.28 0.386 0.227538c5361.217 -0.681 0.6 64.3 -403 759 327 255 235 24.2 2
W 380 775 95.04 1000 1088912 0.329 100% 0616 -0.348 001 00 00 00 0 555500 510 42.6 ||W}380 775 96.42 100.0 82.49 0.345 0.358 100% 0.657 -0.329 0.01 00 00 00 0 555500 510 42|
N, 38077500 001 001 03110327 0% 0615 -0.348 001 00 00 00 180 0.0 -4%asa@09||N 30 77500 001 00 03440357 0% 0656 -0.329 001 00 00 00 180 00 -49ABALAL
U 380775 17.1 180 196 0312 0329 18% 0616 -0.348 0.01 00 00 00 185 10 -0.4 00 00|[u] 3807751735 180 14.840.345 0.358 18% 0657 -0320 001 0.0 00 00 180 L0 -0.4 00
fee20-1a fee20-2a

XYEW—100.Q3 ,100.0, 64.68 74 Parameter: L Cl! _L*Clr _50 XYZ,=109.84, 99.99 , 35.58 74 Pframeter. L Clr:L*C“——SO I74
A=2560,-3,)Y 1 I L*cyr &name 50

I Y=Y

=1, byy=-0,4

X —0110 B =2,500
=[A24B, 5]1/2

6 Ostwa\dcolours 0).Cyp,
colour space Cug , L cu)
Lo =L cie(Y) / L (18)

lllumin. AOO, Y
fame Range X A A3 A ws2 Y e Ler Ly
R, 5ro17s 198 4301 004 0548 0349605 4991542 0001 0.797 767 4.1 857 26" 238 215 225 2
504 775 104.495.97 2.33 0,515 0.473581 4740.856 -0.024 0.332 66 795 79.8 85 533 484 49.4 41
e 504 579 24.50 5296 2.20 0307 0.663547 5470298 ~0.043 0615 ~70.1 413 BL4 149 2.94 278 286 2
c; 380 579 20.97 56.99 3554 0.244 0.465499 6050.280 -0.623 0.601 ~76.7 ~38.1 85.7 206 316 301 309 2
B7 380504538 403 33240126 0.004474 5810.172 -8246 7.017 -6.6 ~79.5 79.8 265 0.22 ~263 42578,
M 579 504 85.26 47.04 33.28 0,514 0.284547c547 1.425 -0.707 0,692 701 413 814 329 261 24.2 24.9 2
W 380 775 100.80.99 35.58 0.447 0407 100% 0.828 -0.355 0.01 00 00
N, 380 775001 00 00 04450405 0% 0827 -0.355 001 00 00
U, 380_77519.77 1799 6.4 0447 0.407 18% 0828 -0.355 001 00 00

00 0 555500 510 42
00 180 00 -49:488209.5)
00 180 10 -04 00 09

fee20-3a

ly
fee20-4a

Tee20-7R R




